
 

 

Answer on Question #58059 – Math – Linear Algebra 

Question 

6. Solve for x and y: 3x + 4y = 9, 2x + 3y =8 

x = 7.5, y = - 4. 5 

x = 7.0, y = - 4. 5 

x = 4.5, y = - 7. 5                 x = 7.5, y = - 4. 1 

Solution 

{
3x +  4y =  9
2x +  3y = 8

 

3(3x +  4y) − 4(2x +  3y) = 3(9) − 4(8) 

𝑥 = −5 → 𝑦 =
9 − 3 ∙ (−5)

4
= 6 

Answer: x = -5, y = 6. 

Question 

9. Solve the set of linear equations by the matrix method: a+3b+2c=3, 2a-b-3c= -8, 5a+2b+c=9. Solve for c 

2 

1 

5 

7 

Solution 

{
a + 3b + 2c = 3

2a − b − 3c =  −8
5a + 2b + c = 9

→ (
1 3 2
2 −1 −3
5 2 1

3
−8
9

) 

(
1 3 2
2 −1 −3
5 2 1

3
−8
9

)
𝑅2 = 𝑟2 − 2𝑟1

− − − − −→
(

1 3 2
0 −7 −7
5 2 1

3
−14

9
)

𝑅3 = 𝑟3 − 5𝑟1

− − − − −→
(

1 3 2
0 −7 −7
0 −13 −9

3
−14
−6

) 

(
1 3 2
0 −7 −7
0 −13 −9

3
−14
−6

)
𝑅3 = 7𝑟3 − 13𝑟2

− − − − −→
(

1 3 2
0 −7 −7
0 0 28

3
−14
140

) 

28𝑐 = 140 → 𝑐 =
140

28
= 5 

Answer: 5. 

Remark. Parts 7, 8, 10 are not properly written, therefore we can’t solve them. 
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